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SCIENCE AND CIVILIZATION 
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SECTION A — (2 × 13 = 26 marks) 

Answer any TWO questions. 

1. Explain in detail about Neolithic age of metals. 

 ÌZàË Äñý¬MæüP °Äñý*Í¤MŠü Ä¶ý¬Væü… Væü$Ç…_ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

2. Give an account on the significance discoveries in medical field during 20th 

Century. 

 20 Ð@þ Ô¶ý™éºªÐ@þ¬ÌZ  OÐðþ§æþÅÆæÿ…Væü…ÌZ Væü$Ç¢…ç³§æþW @̄þ Ð@þ¬QÅOÐðþ$¯@þ BÑçÙPÆæÿ×ýËOò³ JMæü ÐéÅçÜÐ@þ¬ @̄þ$ 
{ÐéÄ¶ý¬Ð@þ¬. 

3. Describe the importance of Mathematics. 

 Væü×ìý™èþÐ@þ¬ Äñý¬MæüP {´ëÐ@þ¬QÅ™èþ @̄þ$ ÑÐ@þÇ… è̂þ$Ð@þ¬. 

4. Give an account on the invention of Steam engine. 

 BÑÇ C…h Œ̄þ Äñý¬MæüP BÑçÙPÆæÿ×ýOò³ JMæü ÐéÅçÜÐ@þ¬ {ÐéÄ¶ý¬Ð@þ¬. 

5. Explain the Non conventional energy source with example. 

 Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢Ð@þ @̄þÆæÿ$Ë @̄þ$ E§éçßýÆæÿ×ýË™ø ÑÐ@þÇ… è̂þ$Ð@þ¬. 

6. Explain about biological killers. 

 iÐ@þ MìüËÏÆŠÿË Væü*Ça ÑÐ@þÇ… è̂þ$Ð@þ¬. 

 SECTION B — (3 × 4 = 12 marks) 

 Answer any THREE questions. 

7. (a) Insulin  

  C @̄þ$ÞÍ¯Œþ  

 (b) Computer 

  Mæü…ç³NÅrÆŠÿ 

 (c) Teleprinter  

  sñýÍ{í³…rÆŠÿ 

 (d) DDT 

  yìþ.yìþ.sìý 



  

   

   

 (e) Atomic power 

  A×ý$Ô¶ýMìü¢ 

 (f) Solar energy 

  ÝûÆæÿÔ¶ýMìü¢ 

 (g) Security  

  ¿¶ý{§æþ™èþ 

 (h) Iron 

  C @̄þ$Ð@þ¬ 

 (i) Satellite 

  Eç³“VæüçßýÐ@þ¬ 

 SECTION C — (3 × 4 = 12 marks) 

 Answer ALL questions. 

8. Fill in the blanks :- 

 (a) _____ invented pencillin. 

  _____ - -ò³°ÞÍ Œ̄þ @̄þ$ GÐ@þÆæÿ$ Mæü @̄þ$Vö¯é²Ææÿ$? 

 (b) Fertilizers are used in _____. 

  GÆæÿ$Ð@þ#Ë$ GMæüPyæþ Ðéyæþ$™éÆæÿ$ _____. 

 (c) ILO means _____. 

  I.GÌŒý.K A @̄þV> ó̄þÑ$ _____. 

 (d) Radium therapy is for _____. 

  ÆóÿyìþÄ¶ý$… _Mìü™èþÞ _____ MøçÜ… 

9. Choose the correct answer :- 

 (a) Blue baby syndrome is due to  

  º*Ï »ôý¼ íÜ…{yøÐŒþ$ §óþ° Ð@þË @̄þ Ð@þçÜ$¢…¨  

  (i) Mercury (iii) Lead 
   ´ë§æþÆæÿçÜÐ@þ¬  ïÜçÜÐ@þ¬ 

  (ii) Nitrates (iv) Phosphates 
   Ō ðþ{sôýsŒýË$   ¸ëõÜµr$Ï 

 (b) Radio was invented by 

  ÆóÿyìþÄñý* @̄þ$ GÐ@þÆæÿ$ Mæü°ò³sìýtÇ? 

  (i) Thomas (iii) Biard 
   £øÐ@þ$‹Ü  »ñýÆæÿ$z 



  

   

   

  (ii) Johane Gutenberg (iv) Gulimo Marconi 
   gê Œ̄þ Væü$sñý Œ̄þºÆŠÿY  Væü$ÍÐðþ* Ð@þ*ÆöP° 

 (c) Pesticides are used 

  ç³#Ææÿ$Væü$Ë Ð@þ$…§æþ$Ë$ §óþ°Mìü Eç³Äñý*WÝë¢Ææÿ$? 

  (i) to increase production (iii) To stop floods 
   E™èþµ†¢° ò³… è̂þyé°Mìü  Ð@þÆæÿ§æþË$ Bç³yé°Mìü  

  (ii) To kill insects (iv) To bring rain 
   MîürM>Ë @̄þ$ è̂þ…ç³yé°Mìü  Ð@þÆæÿÛ… MöÆæÿMæü$ 

 (d) Geothermal energy 

  ¿¶ý* EçÙ~Ô¶ýMìü¢ 

  (i) Conventional energy (iii) Non conventional energy 
   Ýë…{ç³§éÄ¶ý$Mæü Ô¶ýMìü¢  Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢ 

  (ii) Chemical energy (iv) Atomic energy 
   ÆæÿÝëÄ¶ý$ @̄þ Ô¶ýMìü¢  A×ý$Ô¶ýMìü¢ 

10. Match the following. 

 (a) H2SO4  (i) Communication 
  H2SO4   ¿êÐ@þ{ç³ÝëÆæÿÐ@þ¬ 

 (b) Television  (ii) Conventional energy 
  sñýÍÑf Œ̄þ   Ýë…{ç³§éÄ¶ý$Mæü Ô¶ýMìü¢ 

 (c) Wind energy (iii) Acid rains 
  V>ÍÔ¶ýMìü¢   BÐ@þ$ÏÐ@þÆ>ÛË$ 

 (d) Electricity  (iv) Non Conventional energy 
  Ñ§æþ$Å è̂þeMìü¢   Ýë…{ç³§éÄôý$™èþÆæÿ Ô¶ýMìü¢ 

———————— 
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B.Sc. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

Mathematics 

Paper – III : RING AND LINEAR ALGEBRA 

Time : Three hours Maximum : 70 marks 

SECTION A — (8 × 3 = 24 marks) 

Answer ALL questions, each question carries 3 marks. 

1. Explain about Cancelation law in a ring R. 

 Ð@þËÄ¶ý$Ð@þ¬ R  ÌZ MösìýtÐóþ™èþ ¯éÅÄ¶ý$Ð@þ¬ @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

2. Show that a field has no zero divisors. 

 „óü{™èþÐ@þ¬  Ô¶ý* @̄þÅ¿êfMæü Ææÿíßý™èþÐ@þ¬ è̂þ*ç³#Ð@þ¬. 

3. Show that homomorphic image of a ring is a ring. 

 Ð@þËÄ¶ý$Ð@þ¬ Äñý¬MæüP çÜÐ@þ$Ææÿ*ç³™é {ç³†¼…ºÐ@þ¬ JMæü Ð@þËÄ¶ý$Ð@þ$° è̂þ*ç³#Ð@þ¬. 

4. Show that the homomorphic image of a commutative ring is a Commutative. 

 JMæü Ñ°Ð@þ$Ä¶ý$ Ð@þËÄ¶ý*°Mìü çÜÐ@þ$Ææÿ*ç³™é {ç³†¼…ºÐ@þ¬, JMæü Ñ°Ð@þ$Ä¶ý$ Ð@þËÄ¶ý$Ð@þ$° è̂þ*ç³#Ð@þ¬. 

5. Show that the vectors (1,1,0,0), (0,1,-1,0), (0,0,0,3) in �� are linearly independent. 

 ��  ÌZ (1,1,0,0), (0,1,-1,0), (0,0,0,3) Ë$ º$$k ÝëÓ™èþ…{™èþÅÐ@þ$° è̂þ*ç³…yìþ. 

6. Define Linear transformation of a vector space V(F) into Vector space W(F). Give 

an example of linear transformation. 

 º¬k ç³ÇÐ@þÆæÿ¢̄ @þ° °ÆæÿÓ_… è̂þ…yìþ. (�(�� → 	(��� º¬k ç³ÇÐ@þÆæÿ¢̄ @þMæü$ JMæü E§éçßýÆæÿ×ý°Ð@þ¬Ã. 

7. Find the characteristic roots of the matrix 
5 6 80 7 20 0 4� 

 
5 6 80 7 20 0 4� Ð@þ*{†Mæü Äñý¬MæüP Ìê„æü×ìýMæü Ð@þÊË… Mæü @̄þ$MøP…yìþ. 

8. Show that the matrix � = �3 44 3� is diagonalizable matrix. 

 � = �3 44 3� Ð@þ*{†Mæü @̄þ$ ÑMæüÈ~Äæý$ Ð@þ*{†Mæü A° è̂þ*ç³…yìþ. 



  

   

  

 

 SECTION B — (4 × 11½ = 46 marks) 

 Answer ALL questions, each question carries 11½ marks. 

9. (a) Prove that ��√2� = {� + �√ 
!,   �∈$} is a field with respect to addition and 

multiplication of numbers. 

  çÜ…QÅËOò³ çÜ…MæüË @̄þ, Væü$×ýM>ÆæÿÐ@þ¬Ë™ø ��√2� = {� + �√ 
!,   �∈$ JMæü „óü{™èþÐ@þ$Væü$ @̄þ° è̂þ*ç³#Ð@þ¬. 

 Or 

 (b) (i) Define Kernal of a homomorphism on rings. 

  (ii) State and prove fundamental of homomorphism on rings. 

  (i) Ð@þËÄ¶ý$ çÜÐ@þ$Ææÿ*ç³™èþ MðüÆæÿ²ÌŒý (A…™èþçÜ¦Ð@þ¬) @̄þ$ °ÆæÿÓ_…ç³#Ð@þ¬. 
  (ii)  Ð@þËÄ¶ý*Ë çÜÐ@þ$Ææÿ*ç³™èþËOò³ {´ë£æþÑ$Mæü íÜ§é®…™èþÐ@þ¬ (Fundamental theorem) @̄þ$ 
{ç³Ð@þ_…_, °Ææÿ*í³… è̂þ$Ð@þ¬. 

10. (a) (i) Prove that the set of all ordered n–types over a field F is a vector space. 

  (ii) Prove that a system consisting of a single non-zero vector is always 

linearly independent. 

  (i) F „óü{™èþ…Oò³  -n A¨Ô¶ýË “MæüÐ@þ$çÜÑ$† çÜ¨Ô>…™èþÆ>â¶ý… AÐ@þ#™èþ$…§æþ°  è̂þ*ç³…yìþ. 
  (ii)  JMóü JMæü Ô¶ý* ó̄þÅ™èþÆæÿ çÜ¨Ô¶ý º$$kÝëÓ™èþ…{™èþÅ çÜÑ$†° HÆæÿµÆæÿ$ è̂þ$ @̄þ° è̂þ*ç³…yìþ. 

 Or 

 (b) (i) Express the vectors % = (1, −2,5� as a linear combination of vectors () = (1,1,1�, ( = (1,2,3�, (* = (2, −1,1�. 
  (ii) Show that the mapping ,: � (�� → �*(�� defined as ,(�, .� = (� + ., � −., .� is a linear transformation from � (�� into �*(��. Find the range, 

rank, nullspace and nullity of T. 

  (i) % = (1, −2,5� A @̄þ$ çÜ¨Ô¶ý @̄þ$ () = (1,1,1�, ( = (1,2,3�, Ð@þ$ÇÄ¶ý¬  (* = (2, −1,1� 
çÜ¨Ô¶ýË  º$$kçÜ…Äñý*Væü…V> {ÐéÄ¶ý$…yìþ. 
  (ii)  ,: � (�� → �*(�� { ç³Ðóþ$Ä¶ý*°² ,(�, .� = (� + ., � − ., .� °ÆæÿÓ_õÜ¢, T ° 
º$$kç³ÇÐ@þÆæÿ¢̄ @þÐ@þ$°  
    è̂þ*ç³…yìþ.  T Äñý¬MæüP ÐéÅí³¢, ç³ÇÐ@þÆæÿ¢̄ @þ Møsìý, ç³ÇÐ@þÆæÿ¢̄ é Ô¶ý*¯éÅ…™èþÆ>â¶ý… Ð@þ$ÇÄ¶ý¬ ç³ÇÐ@þÆæÿ¢̄ @þ 
Ô¶ý* @̄þÅ™èþ Mæü @̄þ$MøP…yìþ. 

11. (a) (i) State and prove Cayley–Hamilton theorem. 

  (ii) Find the rank of the matrix � = 
1 −1 3 61 3 −3 −45 3 3 11� 
  (i) MóüÎ & õßýÑ$Ët̄ Œþ íÜ§é®…™èþÐ@þ¬ @̄þ$ {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 

  (ii)  � = 
1 −1 3 61 3 −3 −45 3 3 11� Oò³ Ð@þ*{†Mæü Äñý¬MæüP Møsìý°  Mæü @̄þ$MøP…yìþ. 

 Or 



  

   

  

 

 (b) (i) Find the characteristic equation of the matrix � = 
 2 −1 1−1 2 −11 −1 2 � and 

verify that it is satisfied by A. 

  (ii) Find �/) if � = 
3 1 12 4 21 1 3� 

  (i) � = 
 2 −1 1−1 2 −11 −1 2 � Oò³ Ð@þ*{†Mæü Äñý¬MæüP Ìê„æü×ìýMæü çÜÒ$MæüÆæÿ×ýÐ@þ¬ @̄þ$ Mæü è̄þ$MøP…yìþ. D 

Ìê„æü×ìýMæü çÜÒ$Mæü…Ææÿ×ýÐ@þ¬ A çÜ…™èþ–í³¢ ç³Ææÿ$çÜ$¢…§æþ° è̂þ*ç³…yìþ. 

  (ii)  Oò³ Ðèþ*{†Mæü è̄þ$ Mæü è̄þ$MøP…yìþ. 

12. (a) (i) State and prove Cauchy–Schwarz's inequality. 

  (ii) State parallelogram law. 

  (i) MøíÙ & ÚëtÆŠÿj AçÜÐ@þ* @̄þ™èþ íÜ§é®…™èþÐ@þ¬ @̄þ$ {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ$Ð@þ¬. 
  (ii)  çÜÐ@þ*…™èþÆæÿ è̂þ™èþ$Ææÿ$Âf… ¯éÅÄ¶ý$… @̄þ$ {ÐéÄ¶ý¬Ð@þ¬. 

Or 

 (b) (i) Define Jordan curve. 

  (ii) Apply Gram–Schmidt process to obtain an ortho–normal basis of �*(�� 

from the basis {(1,0,1), (1,0,-1), (0,3,4)}. 

  (i) gZÆæÿz̄ Œþ Ð@þ“Mæü…¯@þ$ °ÆæÿÓ_… è̂þ…yìþ. 
  (ii)  �*(�� A…™èþÆ>â¶ýÐ@þ¬ Äñý¬MæüP {(1,0,1), (1,0,-1), (0,3,4)} B«§éÆ>Ë¯@þ$, “V>ÐŒþ$ & íÜPüÃyŠþ    

———————— 



 

  

 

     (DSMAT32) 

B.Sc. DEGREE EXAMINATION, DECEMBER 2019. 
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Paper – IV : NUMERICAL ANALYSIS 

Time : Three hours Maximum : 70 marks 

SECTION A — (8 × 3 = 24 marks) 

Answer ALL questions, each question carries equal marks. 

1. Construct finite forward difference table for the function � = ��. 

 � = ��  {ç³Ðóþ$Ä¶ý*°Mìü ç³ÇÑ$™èþ ç³#ÆøVæüÐ@þ$ @̄þ Ð@þÅ™éÅçÜ ç³sìýtMæü @̄þ$ °ÇÃ… è̂þ…yìþ. 

2. Prove that �� = �∆	


 � �� ∙ 

�

∆	
� 

 �� = �∆	


 � �� ∙ 

�

∆	
�    A° °Ææÿ*í³… è̂þ…yìþ. 

3. If  �� = 3, �� = 12, �� = 81, �� = 200, �� = 100, �� = 8 find the value of ∆���. 

 �� = 3, �� = 12, �� = 81, �� = 200, �� = 100, �� = 8    AÆÿ¬™óþ ∆��� ÑË$Ð@þ¯@þ$ Mæü¯@þ$MøP…yìþ. 

4. Prove that � = 1 + �
� �� 

 � = 1 + �
� ��  A° °Ææÿ*í³… è̂þ…yìþ. 

5. Explain Iteration method 

 C{sôýçÙ¯Œþ ç³§æþ®†° ÑÐ@þÇ… è̂þ…yìþ. 

6. Write Everrtt's formula 

 HÐ@þÆŠÿtÞ çÜ*{™é°² {ÐéÄ¶ý$…yìþ.  

7. Explain Simpson's ⅜th rule. 

 íÜ…ç³Þ Œ̄þÞ ⅜th rule @̄þ$ ÑÐ@þÇ… è̂þ…yìþ.  

8. Explain Matrix inverse method. 

 Ð@þ*{†M> ÑÌZÐ@þ$ ç³§æþ®†° ÑÐ@þÇ… è̂þ…yìþ. 



  

   

  

 

 SECTION B — (4 × 11½ = 46 marks) 

 Answer ALL questions, each question carries equal marks. 

9. (a) (i) Construct backward difference table from the data. Assuming third 

difference to be constant, find the value of sin 25°. 
   sin 30° = 0.5000, sin 30° = 0.5736, sin 40° = 0.6428, sin 45° = 0.7071. 
  (ii) Evaluate (1) ∆�(��  (2) )( + 2*)( − 1*)�� + �*. 
  (i) “Mìü…¨ §æþ™é¢…Ô¶ýÐ@þ¬ @̄þ$ Eç³Äñý*W…_, †ÆøVæüÐ@þ$¯@þ Ð@þÅ™éÅçÜ ç³sìýtMæü @̄þ$ ™èþÄ¶ý*Ææÿ$ ó̂þíÜ, A…§æþ$ÌZ                  

3 Ð@þ Ð@þÅ™éÅÝë°²  íÜ¦Æ>…Mæü… A @̄þ$Mö° sin 25° ÑË$Ð@þ @̄þ$ Mæü¯@þ$MøP…yìþ.  
    sin 30° = 0.5000, sin 30° = 0.5736, sin 40° = 0.6428, sin 45° = 0.7071. 
  (ii) (1) ∆�(��   (2)  )( + 2*)( − 1*)�� + �*  ÑË$Ð@þË @̄þ$ Mæü @̄þ$MøP…yìþ 

 Or 

 (b) (i) State and prove Lagrange's interpolation formula. 

  (ii) Using divided difference table, find ,)�*, which takes the values 

1, 4, 40, 85 at � = 0, 1, 3, 4. 
  (i) Ìñý“V>…gŒý A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 

  (ii) � = 0, 1, 3, 4 Ð@þ§æþª ,)�* = 1, 4, 40, 85 AÆÿ¬™óþ, Ñ¿êh™èþ Ð@þÅ™éÅçÜ ç³sìýtMæü §éÓÆ> ,)�* ̄ @þ$ 
   Mæü¯@þ$MøP…yìþ. 

10. (a) State and prove Gauss Backward Interpolation formula. 

  Vú‹Ü A…™èþÆóÿÓÔ¶ý @̄þ çÜ*{™é°² {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ. 

 Or 

 (b) (i) Use Sterling's formula to find �- given that �� = 525, �. = 4316, ��� =
3256,  ��. = 1926, ��� = 306. 

  (ii) Find the value of ��� using Bessle's Formula if ��� = 2854, ��� = 3162, 
 ��0 = 3544, ��� = 3992.  

  (i) òÜtÇÏ…VŠü çÜ*{™é°² Eç³Äñý*W…_, �- ÑË$Ð@þ @̄þ$ “Mìü…¨ ÑË$Ð@þË §éÓÆ> Mæü¯@þ$MøP…yìþ. 
�� = 525, �. = 4316, ��� = 3256, ��. = 1926, ��� = 306. 

  (ii) ��� = 2854, ��� = 3162, ��0 = 3544, ��� = 3992  AÆÿ¬™óþ, »ñýçÜÞÌŒýÞ çÜ*{™é°²                                    
Eç³Äñý*W…_      

11. (a) Using Romberg's integration, Calculate 1 �
234 � 5�½

�  Correct to 4 decimal places. 

  Æ>…ºÆŠÿY çÜÐ@þ*MæüË° 1 �
234 � 5�½

�   ° 4 decimal Ýë¦̄ éËÌZ Calculate ó̂þÄ¶ý$…yìþ. 

 Or 

 (b) Evaluate 1 √1 + ���
� 5� using Simpson's ⅜th rule. 

  1 √1 + ���
� 5� @̄þ$ íÜ…ç³Þ Œ̄þÞ ⅜th rule §éÓÆ> Mæü @̄þ$MøP…yìþ. 



  

   

  

 

12. (a) (i) Find a real root of the quation �� − 3� + 5 = 0 using Newton's Rapson's 

method. 

  (ii) Find a real root of � = �
)�8�*	 by Iteration method. 

  (i) @̄þ*År Œ̄þ &Æ>ç³Þ Œ̄þ ç³§æþ®†° Eç³Äñý*W…_ �� − 3� + 5 = 0 çÜÒ$MæüÆæÿ×ýÐ@þ¬ Äñý¬MæüP JMæü 
ÐéçÜ¢Ð@þ  Ð@þÊÌê°²  Mæü @̄þ$MøP…yìþ.  

  (ii) ç³#¯@þÆæÿ$Mæü¢ ç³§æþ®† §éÓÆ> � = �
)�8�*	 @̄þMæü$ JMæü ÐéçÜ¢Ð@þ Ð@þÊÌê°² Mæü @̄þ$MøP…yìþ. 

 Or 

 (b) (i) Solve the system by the method of factorisation � + 3� + 89 = 4, � +
4� + 39 = −2, � + 3� + 49 = 1.  

  (ii) Explain Gauss Elimination method. 

  (i) “Mìü…¨ çÜÒ$MæüÆæÿ×ýÐ@þ¬Ë @̄þ$ factorisation ç³§æþ®†ÌZ Ýë«̈ … è̂þ…yìþ. 
   � + 3� + 89 = 4, � + 4� + 39 = −2, � + 3� + 49 = 1.   
  (ii) Vú‹Ü & GÍÑ$ ó̄þçÙ¯Œþ ç³§æþ®†° ÑÐ@þÇ… è̂þ…yìþ. 

———————— 
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B.Sc. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

STATISTICS — III : APPLIED STATISTICS 

Time : Three hours  Maximum : 70 marks 

SECTION A — (4 × 12½ = 50 marks) 

Answer any FOUR of the following. 

1. (a) What are the types of sampling techniques and explain? 

 (b) In Neyman Allocation, show that iii SNn ∝ . 

2. (a) Explain ANOVA one-way classification. 

 (b) What is ANOVA? What are the assumptions and where is it used? 

3. (a) Explain analysis of Latin Square Design. 

 (b) What are the advantages and disadvantages of CRD and applications? 

4. (a) Explain various rates for measuring mortality of a given population. 

 (b) Describe the uses of Vital Statistics. 

5. (a) What do you understand by control charts in statistical control charts? 

 (b) Explain np, C-charts. 

6. (a) Explain components of a time series. 

 (b) Describe the method of least squares for estimating the trend in a time 

series. 

7. (a) Distinguish between simple and weighted index number. 

 (b) Explain various problems involved in the construction of an index number. 

8. (a) Explain functions of N.S.S.O. 

 (b) What is an abridged life table? What are its components. 

 

 



   

  

 

SECTION B — (10 × 2 = 20 marks) 

Answer ALL the questions. 

9. (a) What are the limitations of sampling? 

 (b) Define SRSWOR and SRSWR. 

 (c) Define Treatments. 

 (d) Define ANOVA. 

 (e) What is analysis of time series? 

 (f) Whole sale price index number. 

 (g) Define age specific death rate. 

 (h) What are the limitations of SQC? 

 (i) Define Vital Statistics.  

 (j) Define C.S.O. 

  

_______________ 
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B.Sc. DEGREE EXAMINATION,  
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Third Year 

STATISTICS IV – OPE. RES., COMP. PROGRA. AND NUME.ANALY. 

Time : Three hours   Maximum : 70 marks 

SECTION A — (4 × 12½ = 50 marks) 

Answer any FOUR of the following questions. 

1. (a) Explain various phases of Operations Research. 

 (b) Explain an algorithm to solve an ‘‘Assignment Problem’’. 

2. (a) Write an algorithm to solve the LPP by graphical method. 

 (b) Solve the following L.P.P. by using simplex method. 

   Max 21 57 xxz +=  

  S.T.C  

  
1234

62

21

21

≤+

≤+

xx

xx
 

  and 0, 21 ≥xx . 

3. (a) Find the saddle point and hence solve the following game. 

   B   

  B1 B2 B3 B4 

 A1 1 7 3 4 

A A2 5 6 4 5 

 A3 7 2 0 3 

 (b) For any 2 × 2 two-person zero sum game without saddle point having the pay 

off matrix. 

  B 

 Y1 Y2 

x1 V11 V12 

x2 V21 V22 

 Obtain the value of the game and optimal strategies for both players. 

  



   

  

 

4. (a) What are the advantages of network (PERT/CPM)? 

 (b) Explain the iterative procedure of determining critical path. 

5. (a) Derive Lagranges interpolation formula. 

 (b) Using the information in the following table obtain the value of ( )6f . 

x : 1 2 7 8 

( )xf  : 4 5 5 4 

6. (a) Derive Simpson’s 1/3 rule. 

 (b) State Trapezoidal rule. Calculate ∫ +

10

2
1 x

dx
 by using it. 

7. (a) Solve the following system of equation of Gauss-Seidal method. 

   

25

1932

8

321

321

321

=+−

=−+

=++

xxx

xxx

xxx

 

 (b) Find the real root of the following equation by using Newton-Raphson 

method 0104 =−− xx . 

8. (a) Describe about work sheet in MS-EXCEL. 

 (b) Explain a simple column chart in MS-EXCEL. 

SECTION B — (10 × 2 = 20 marks) 

Answer ALL questions. 

9. (a) What are models in O.R? 

 (b) What is unbounded solution in LPP? 

 (c) Define sequencing problem. 

 (d) Mention basic assumptions in sequencing problem. 

 (e) Mention the applications of L.P.P. 

 (f) Define strategy. 

 (g) Properties of Network. 

 (h) Explain numerical differentiation. 

 (i) Write formula of Newton-Raphson method. 

 (j) Write standard deviation in MS-EXCEL. 

  

——————– 
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B.Sc. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year 

Computer Science   

Paper III — MODERN DATABASE MANAGEMENT  

Time : Three hours   Maximum : 70 marks 

 

SECTION A — (3 × 4 = 12 marks) 

Answer any THREE questions. 

 

1.  What are the applications of Database? 

2.  What are the rules of modeling? 

3.  Give an example for super type and sub type. 

4.  How can you processing single table? 

5.  What are the Data Dictionary Facilities? 

  

SECTION B — (4 × 7 = 28 marks) 

Answer any FOUR questions. 

 

6.  What are the advantages of Database Approach? 

7.  Give an example for Advanced Normal Forms. 

8.  How can you construct ER-model? 

9.  Write a procedure to updating and deleting data from Table. 

10.  Explain about client/server Architecture. 

  

  



   

  

 

SECTION C — (10 × 3 = 30 marks) 

Answer ALL questions. 

11.  Database development process 

12.  Three-schema Architecture 

13.  Business Rules 

14.  EER modeling 

15.  Designing physical records and denormal system. 

16.  Query performance 

17.  Examples for dynamic SQL. 

18.  Examples for Sub Routines. 

19.  Middleware use 

20.  Role of DBA. 

—————— 



   

  

 

    (DSCSC32) 

B.Sc. DEGREE EXAMINATION, DECEMBER 2019. 

Third Year  

Computer Science  

Paper IV — VISUAL PROGRAMMING 

Time : Three hours   Maximum : 70 marks 

Answer any FIVE questions. 

All questions carry equal marks. 

1. What is IDE? Explain about starting the visual C++ IDE. 

 IDE A è̄þV> ó̄þÑ$? Visual C++ IDE start ^óþÄæý$$r Væü*Ça ÑÐèþÇ…ç³#Ðèþ$$. 

2. Explain about the file menu and insert menu of VC++. 

 VC++ Äñý$$MæüP file menu Ðèþ$ÇÄæý$$ insert menu Væü*Ça ÑÐèþÇ…ç³#Ðèþ$$. 

3. Explain about advanced visual C++ features and debugging programes. 

 Advanced visual C++ features Ðèþ$ÇÄæý$$ debugging programes Væü*Ça ÑÐèþÇ…ç³#Ðèþ$$. 

4. Explain about input and output for character and string. 

 Character Ðèþ$ÇÄæý$$ string Äñý$$MæüP input Ðèþ$ÇÄæý$$ output Væü*Ça ÑÐèþÇ…ç³#Ðèþ$$. 

5. Explain about character functions and string functions. 

 Character functions Ðèþ$ÇÄæý$$ string functions Væü*Ça ÑÐèþÇ… è̂þ…yìþ. 

6. Explain about procedure oriented windows applications and windows applications 

using the MFC. 

 MFC Eç³Äñý*W…_ procedure oriented windows applications Ðèþ$ÇÄæý$$ windows 

applications ÑÐèþÇ…^èþ…yìþ. 

 

 

 



   

  

 

7. Explain about Application and Class wizards. 

 Application Ðèþ$ÇÄæý$$ Class WizardsË Væü*Ça ÑÐèþÇ… è̂þ…yìþ. 

8. Explain about OLE features and specifications. 

 OLE features Ðèþ$ÇÄæý$$ specifications Væü*Ça ÑÐèþÇ… è̂þ…yìþ. 

9. Explain the creation of a simple Active-X control with the MFC. 

 MFC™ø simple Active-X control çÜ–íÙt… è̂þ$r è̄þ$ ÑÐèþÇ…ç³#Ðèþ$$. 

10. Explain : 

 (a) Rewind( ) 

 (b) Bitmaps 

 (c) Custom Icons. 

 ÑÐèþÇ…^èþ…yìþ : 

 (a) Rewind( ) 

 (b) ¼sŒýÐèþ*Å‹³Ë$ 

 (c) MæüçÜtÐŒþ$ IM> Œ̄þË$. 

––––––––––––––– 


